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TrigonometryTest0l for No.11901

231 131
d=m 2=T 3=
Nol = 17 n 117 T
4= 5= b=——
6 2 3

-l s-cl-2) s3]

2=
5
No3 = (cot(A) ] , No4 = (tan(A) = ;]

P
1—( —4COS(QJJ 7 v
Nos=|""\V~ 2))) ,No6=[.1=7,.2=30°}, | g

2=(y=cos(30)) S

P
No7 = [ Conditionl =[Cot(0) =-1], Condition2 =[Sin(0) < 0], Quest =Cos(0)], , g
S
R
.1 =Sin(42°) Cos(12°) — Cos(42°) Sin(12°) ¢
t
No8 = 137 R
.2=_Cos ? h
@
L MUT |

T
{A:O,B— =—, =n}

T
2’
No9 = {Cond] :(Sin(oc)— j Cond2 = (COS(B):ﬁﬂ

([ 2esme ]

Nol0 = {I = Cos(arcSin(%D 2= arcCos(— @] 3= arcSin(Sin(— %)ﬂ

X [Page = 0014] XXXXXXXXXXXXXXXXXXXXXXXKXKXXXKXKXXXXKXKKXKXXXKKKXXXXKXKXXXKKKKXKXKX




):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXXKXXXKMS/1-6300109-00015XX
TrigonometryTest0l for No.11947

T 237 231
]:—; 2=- p 3= 1
Nol =
T On
4=-3n S=-—"7" 6=-

. p )
) S5n 47 3n
No2=|.1=Sinl———| .2=Cos|— | .3=Cos|——
6 3 4

8 ) X
No3 = (cot(A) = gj, , No4 = (sm(A) = g)

P
1
Nos = v (y 6sm(5n9)j, ’N06:[‘1=7n,.2=2250} ’ Z
2=(y=4cos(0)) S
P
No7 = [ Conditionl = [Tan(0) = 3], Condition2 =[Cos(0) < 0], Quest =Csc(0)], , Z
S
R
.1 =Cos(33°) Cos(12°) — Sin(33°) Sin(12°) ¢
t
No8 = ) Ilmn b
.2=Sin T h
@
LMUT |
_ , ) -
{AzO,Bz—,Cz_,Dzn}
2 2
5 , 1
No9 = {Cond] = (Cos(a) = gj, Cond?2 = (Sln( B)= Eﬂ
H .1 =Sin(a) .2=Cos(B) ﬂ
L 3=Cos(p—-a) .4=Sin(a+p) J

Nol0= [ 1= COS[arcsin(gD 2= arcSin(Sin(%D 3= arcCos(— gﬂ
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TrigonometryTest0l for No.11989

157w 8m

A== 2=-Tn  3=-—r

Nol = 91 117 171
4= 5= 6=—

2 6 6

o fr-eo 28] sl oo )

No3 = (tan(A) = %), , No4 = (sin(A) = %)

P
) .I=(y:sin(49))} { 3m } v
NO5_[2:(y:3COS(69))’ ,No6=|.1= 4,.2—(—150) ool g
S
P
No7 = [ Condition] =[0 < Csc(0)], Condition2 =[Cot(0) =-3], Quest =Cos(0)], , g
S
R
.1 =Cos((-345)°) ‘t’
N08: T 57[ . s . Sﬂ: B )
2= Cost—] Cos(—j - Smt—] Slnt—j h
9 36 9 36
@
| MUT .

No9 = {Cond] = (Sin(a) = %j, Cond?2 = (Cos( B)= gﬂ

B [ NN |

Nol0= [1 = arcTan(—«/;) 2= Tan(arcSin(@D 3= arcCos(Cos(— ﬁjﬂ
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TrigonometryTest0l for No.11996

231 25 1t
1=91n 2= ., 3= -
Nol = St _16m 237
Bl T3 7T 6

o fresd2) o) sond ]

. 2 x
No3 = (sm(A) = gj, , No4 = (COS(A) = Zj

0 P
= = - 3
Nos=| ! (y 6‘:05(2}}, ,No6={1=7”,.2=240°}, , Z
2=(y=45sin(60)) S
P
3 ) 4
No7 = [ Conditionl = {Cos(e) =g}, Condition2 = [Cot(0) < 0], Quest = Sm(@)}, g
S
o]
1 =Sin(255%) ’
No8 = 1= i (1l
.2=Cos Cos| — |- Sin Sin| — h
60 15 60 15
@
LMUT |
_ , ) N
{A:O,B:—,Cz—,D:n}
2 2
1 ) 1
No9 = {Cond] = (Cos(a) = EJ, Cond2 = (Sln( P)= gﬂ
H 1=Sin(a) .2=Cos(B) ﬂ
L 3=Cos(a+B) i

4 =Sin(a —P)
13
Nol0 = {1 = arcSin(Sin( & —

) ewf) 1-edcd L]
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TrigonometryTest0l for No.12889

14 &t omn 231

= 3 .2:—T 3= p

Nol = 257 On
4= S5=-13n .6=—""

6 2

5m

voz-.1-co 2] (_j s-cof -22]]

No3 = (COS(A) _ gj Nod = (sec(A) _ f]

P
B .]:(y=2cos(49))} _[ 3n } v
N05_[.2:(y:cos(46)) , ,No6=|.I= 2,.2—(—30) ol g
S
P
: 2 4
No7 =| Conditionl =[Cos(0) < 0], Condition2 = Sln(9)=§ , Quest=Cot(0) |, , g
S
R
.1 =Cos(70) Cos(10°) + Sin(70°) Sin( 10°) c;
No8 = ) T .,
.2=Sin 2T h
@
L MUT .

[ oI 37‘[:' 1
A=0,B=—,C=n,D=—"
2 2

No9 = {Cond] = (Cos(oc) :EJ, Cond?2 = (Sin(ﬁ) = %ﬂ
H .1 =Sin(a) 2=Cos(P) ﬂ
L 3=Sin(a—pB) .4=Cos(fp—a) il

Nol0 = [1 = arcSin(—«/E) 2= Tan(arcCos(@D 3= arcCos(Cos(Z_njﬂ

),0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9,0:9.:9.0:9.:9.0:9:9.0:9:9.0:9:9,0:9:9.0,9:9.0:9:9.0,9:9.0,9:9.0,9:9.0:9:9.0:0:0.0:¢



X

7 3 3
Nol0 = {1 = arcSin(Sin(— ?TED 2= arcTan(gJ 3= Tan(arcCos(— [jﬂ
[Page = 0019]

):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXXKXXKXMS/1-6300109-00019XX
TrigonometryTest0l for No.12890

131 on 14wt
A== 2=-Tr 3=

Nol = 117 51
4=—1271 5=-— b=——"

4 6
No2=|.1=Sin| — | .2=Sinl— | .3=Cos| —
6 3 4
No3 =|cos(4)==1, ,No4 =|sin(4d)=—"
7 X

1 =(y=-3sin(50))

P
NoS5 = 1 N6—{1 T o= 450} d
07 = .2:( :gcos(29)j SRR 27 =457 S
S
P
No7 = [ Conditionl = [Cot(0) = -6 ], Condition2 = [0 < Cos(0)], Quest =Csc(0)], , g
S
o]
131
']:COS(_ 12 ] )
N08: 5 s
T T (m) [ m h
2= Cos(—j Cos(—j + Sll’l(_J Sln(—]
3 12 3 12 @
| MUT |
_ . . _
{AzO,Bz—,Cz—,D:n}
2 2
No9 = !

{Cond] = (Sin(oc) :g , Cond2 = (COS(B) =§H
H .1=Cos(a) .2=Sin(B) ﬂ

3=Cos(a+B) .4=Sin(f-—a)
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TrigonometryTest0l for No.12891

oI 191
A=-10m .2:—1 3=— p
Nol = Sm 17w b
3 2 3

37 41 ] 11=
No2 = {] = Cos[— —j 2= Cos(— —j 3= Sm(— ﬂ
4 3 6

3 X
No3 = (tan(A) = Ej’ , No4 = (csc(A) = gj

P
Nos = '1:(y2_5°05(49)j,  No6=[.1=m,.2=(-150)°], Z
2=(y=—-4cos(6m0)) S
P
: 1 4
No7 =| Conditionl = Sln(9)=§ , Condition2 =[Cot(0) < 0], Quest=Cos(0) |, , g
S
e
.1 =Cos(35°) Cos(5°) + Sin(35°) Sin(5°) ‘t’
No8 = . 131 > )
.2 = Sin| —12 h
@
| MUT

{ T T }
A:O,B:_,C:_,D:n
2 2
4 -4
No9 = {Cond] = (Sin(oc) :gj, Cond2 = (COS(B) = 7”
H .1 =Cos(a) .2=Sin(p) ﬂ
L J3=Smn(B-a) .4=Cos(aa—p)

Nol0= [ 1= arcCOS(COS(— 2—“)) 2= arcsm(g] 3= Tan[arcCos(— ﬁm

3 2
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TrigonometryTest0l for No.12917

A=

2 6
Nol = 10 |

5= 6=5m
3 4 i

) 41 T )
No?2 = [.] = Sm[— —j 2= Cos(—j .3 =Sin
3 4
6 ) 5
No3 = (cot(A) = gj, , No4 = (sm(A) = —j
X

4=

P
d=(y=-3cos(26 3n o vV
No5=[ .22()(/)/:—5 sié(e)ﬂ’ ,No6=[.1=7,.2=(—45) } g
S
P
No7 = [ Conditionl = [Tan(0) = 7], Condition2 = [Cos(0) < 0], Quest =Sin(0)], , Z
S
R
(= Sw T) (5= a
Nog — A = Sln(gJCOS(EJ + Cos(g} Sm(gj o }z;
.2=Cos((-255)%) @
MUT

No9 =

{Cond] = (Cos(oc) :§

[t

, Cond2 = (Sin(ﬁ) = ?H

.2=Cos(PB)

4 =Cos(a— B)H

3
Nol0 = [.] = arcCos(— Tj .2 = Sin( arcTan(—«/;)) 3= arcCos(Cos(
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TrigonometryTest0l for No.13099

1= 23 n
A= 2 2= 1 3=-5n
Nol = 5n 231 10 7
4=—"" 5= b6=—
3 6 3
) T R ) 51
No2 = {I = Sm(— —J 2= Cos[—j 3= Sm(— —H
6 4 3
7 7
No3 = (sec(A) :5 , ,Nod= (cot(A) = —j
X
d=(y=cos(50)) . ’;
No5 = (70|, ,No6=[.]= ,.2=180°}, ,
2= y=—6smT 6 S
S
P
No7 = [ Conditionl = [Sec(0) < 0], Condition2 =[Cot(0)=6], Quest =Sin(0)], , g
S
o]
ol el el Tsnl )|
N08:.—089 os18+1n9 m18,,2
.2=Sin((-105)") @
LMUT |
I [ T 3n } ]
A=0,B=—",C=—"",D=2n
2 2

No9 = {Cond] = (Sin(a) = %j, Cond?2 = (Cos( B)= %ﬂ

et aToell

Nol0 = [1 = Sin(arcCos(— @D 2=arcCos(0) .3= arCSin(Sin( 1 1675 jﬂ
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TrigonometryTest0l for No.13100

e Il = e
.I:—g 2= 2 .SZ—E
Nol =
Tm T
4 =— S=—— 6=971
L 4 4
5T ) Tm ) S5n
No?2 =[.] = Cos ——j 2= Sm(— —j 3= Sm(— —ﬂ
6 4 3
7
No3 Z(CSC(A)ZE , , No4 =(tan(4) =x)
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A2
Nol0 = [.] =arcCos(-1) .2= Tan(arcSm(—2 .3 = arcSin| Sin
POOP PP 0000000 090000000000 0000.000000900.0.0.0.0000090.0.000000

A=(y=2cos(60)) T I;
= 1 = = = (- °
NoS5 .2:[ =—cos(se)j’ , No6 {1 2= (-60) } |
4
S
P
No7 = [ Conditionl = [ Sin(0) = H}’ Condition2 = [Cos(0) < 0], Quest = Tan(@)}, , Z
S
e
I—c ( 13n] a
No§ = ST 2 SN
.2=Cos(100°) Cos(10%) + Sin(100°) Sin(10?) @
L MUT |
_ , ) _
{AzO,Bz—,Cz_,Dzn}
2 2
5 , 2
No9 = {Cond] = (Cos(a) = gj, Cond?2 = (Sln( B)= gﬂ
H .1=Sin(a) .2=Cos(B) ﬂ
L J3=Sin(aa—pB) .4=Cos(p—a) i

5m

3
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TrigonometryTest0l for No.13139

[S5m 27 A
No2=|.1=Sinl— | .2=Cos|———| .3=Sin—
4 3 6

Ab3:£wMA):%, ,Ab4:@mﬁA):§J

A=(y=cos(50))

Sm
Nos = 1 , ,N6={]:——,.2= -30 O}, ,
© .2:(};:—2005(5 G)J ¢ 3 (-30)

Uty W U

1
No7 = { Conditionl = { Sin(0) = 5}, Condition2 = [ Cos(0) < 0], Quest = Tan( 9)}, ,

1= T 11w b
A= Cos[ j Cos(—j + Sin( ] SiHL—J
No8 = 36 18 36 18/, ,

M
a

t

h

.2=Sin((-15)%) @
MU

“hnn X 'v

No9 = {Cond] = (Cos(oc) :§ , Cond?2 = (Sin(ﬁ) :éﬂ

| Bt Npatvonii Y|

1 177
Nol0= {I = Tan(arcSin(ED 2=arcSin(1) .3 = arcSin(Sin( p ]ﬂ
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TrigonometryTest0l for No.13411

8m 117w
.JZT 2=— 3=13n1
Nol = 117 21 7 51
4=- 5= 6=——"
3 2 6

) i 2n
No2 = {] = Sm(— ZJ 2= COS(TJ 3= Cos[

9 2
No3 = (sec(A) = gj, , No4 = (tan(A) = —j

[i1=(y=-5 sm(e))} _[
N05_[.2=(y=sin(36)) » o Nob=|.

5
No7 = { Conditionl = { Sin(0) = g}, Condition2 = [ Cos(0) < 0], Quest = Tan( 9)}, ,

=

X

1

Ny (135)0}
35' — " 5 s

M
A= Cos( 11127:] c;
T coiE) ol 2 ) sl |
2=Cos| 7 |Cos| —— |—Sin| — | Sin| —
15 15 15 15 @
LMUT
B I
A=0,B=—,C=—",D=n
2 2
No9 = {Cond] = (Sin(oc) :gj, Cond?2 = (COS(B) = ?H
H .1 =Cos(a) .2=Sin(P) ﬂ
L 3=Sin(f—-a) .4=Cos(a—p) _

2
Nol0 = {I = Tan(arcSin(%D 2= arcCos(
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